
Division d’Exposants (G)

Simplifiez les expressions suivantes:

1. 55

55

2. 25

26

3. 25

26

4. 41

49

5. 53

55

6. 63

68

7. 36

37

8. 30

36

9. 90

94

10. 31

33

MathsLibres.com



Division d’Exposants (G) Réponses

Simplifiez les expressions suivantes:

1. 55

55

= 50 = 1

2. 25

26

= 2−1 =
1

2

3. 25

26

= 2−1 =
1

2

4. 41

49

= 4−8 =
1

48

5. 53

55

= 5−2 =
1

52

6. 63

68

= 6−5 =
1

65

7. 36

37

= 3−1 =
1

3

8. 30

36

= 3−6 =
1

36

9. 90

94

= 9−4 =
1

94

10. 31

33

= 3−2 =
1

32
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